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3 B M K v 7 F B A K
(56448 188RHE)
1. Bl
No. I H 4 iE il g K &8 & | & 2| EREAAIFEH £ K2 EB| 2 5| #HEs £ B8 BERE| ROTHAN|[ RV TA—H—
H 1 |38 5 #H|iE « HfE B 300 [ 2707 3 A& H24.7.20[ 11 [4.82 m|1.82 m|1.47 m 1, 815kg 5A 2.49 ¢
2 E & 1 & H| B HiffE & 81 v 119/ 3 4 R3.12.2] 2 [5.60 m|1.89 m|2.47 m 3, 135kg 5A 2.96 2
3 |35 $ 2 5 Hl# # H|ff & 800 = 7388/ 3 A H24.6.4[1115.38 m|1.88 m[2.47 m 2, 950kg 8 A 2.69 0
4 |5 % 1 B =#HK iR E|fE 5 800 4 1080|= ES R5.2.3] 1 [4.54 m[1.80 m[1.82 m| 1,815kg 5A 1.49 ¢
b7 5 [ #f 2 & H|K R H|ff & 800 = 2461k 3 & H13.9.27[ 22 {4.75 m|1.79 m|1.95 m 2, 170kg 8 A 2.36 0
6 [l #§ 3 & H|&K iR HE & 4 % 1151]&X /% U] H15.10.31[20]3.39 m|1.47 m[1.90 m 1, 340kg 4 N 0.65 2
1|5 8 4 5 H|K iR HifE B 480 » 6447|R X F[ H17.9.21]18]3.39 m|[1.47 m|1.87 m 1, 310kg 4N 0.65 ¢
8 |& # o W X H|[E MM X B|IES 8 = 94w v 4 H8.8.29| 27 [4.47 m]|1.73 m|2.49 m 2, 605kg 3 A 2.18 2
B 9 AN B 8 ¥ FIx A4 2 0NREE 22 F 605 vy H5.7.14[ 30 16.84 m|1.99 m|[2.73 m| 4, 995kg 27N 416 ¢
10 |5 1 5  E[3 t Kk ¥ # B 800 (& 263|H F H16.2.12] 20 [7.54 m]|2.36 m[2.98 m| 12, 195kg 7 A 7.96 QJA — 1 #&l/MNKRLT
1M [ 2 & H=H|1.6t K # {1 B 800 (& 421|18 25 H19.1.16)17]7.03 m[2.25 m|2.90 m 9, 985kg 7A 6.40 0|A — 2 #|EXEH
12 |5 3 5 H[c D — 1 B H 88 & 9336|Ly F ¥ H8.11.14] 27 [5.67 m]|1.88 m|2.66 m 4, 860kg 6 A 4.57 /A — 2 #HIBXRFSATZIAHIL
® 13 [Ff4858 (AAHHE)|C D — 1 HIfE B 800 & 9724|Ly ¢ & H31.3.26[ 5 [5.55 m|1.90 m|2.42 m| 4, 790kg 6 A 2.99 oA — 2 #®|EUS
14 [1% L C H|54.7m #HF|IE 5 800 (£ 828[H F H29.3.14] 7 [12.00m]|2.50 m|3.52 m| 24, 230kg 6 A 8.86 2
15 | B I 4 H|I BllfE B 800 [& 1050|H 25 R4.12.12] 1 ]7.92 m[2.36 m|3.20 m]| 11, 900kg 6 A 5.12 ¢
- 16 [KX # sk # |0 t £ 5 K #|ff & 800 (& 861|8 $F]  H30.2.15] 6 [9.57 m|2.49 m|3.34 m]| 21,955kg 3 A 8.86 2[B — 2 #&|k—s\V
! 17 |& # E1 A|fE B 800 (X 560{H B[ H22.12.17{ 13 [11.00m|2.50 m|3.54 m| 19, 750kg| 10\ (26 A) |12.91¢Q
18 [EMMIB X1 BE]3t Y L — > | B 800 = 9311|H 5[ H30.1.30] 6 |7.97 m[2.24 m|3.05 m 7, 995kg 3 A 5.12 ¢
19 BRI L2558 # M i % H[E 5 800 & 7563|= = H25.1.21] 11 {7.01 m]|2.25 m(3.24 m 7, 565kg 3 A 2.99 0
[ 20 |EMMIEISHE|E B M W X BIE B 800 (£ 699(H 25 H26.4.23] 9 [9.23 m|2.45 m|3.49 m]| 10, 495kg 5A 6.40 ¢
21 |8 & 1 B H|EF # % H[f 5 800 3 1448|= v H# > R6.2.29] 0 |5.33 m|1.88 m[2.49 m 3, 305kg 7A 2.48 ¢
2% 2 2 5 #HE H ¥ H|E B 800 ¢ 1102(r 3 % R5.2.22| 1 15.66 m|1.89 m[2.49 m 3, 235kg 7A 2.69 ¢
W 2 383 5 HF #F % HEfE B 800 3§ 1450|= v H ¥ R6.2.29] 0 |5.33 m|1.88 m[2.49 m 3, 315kg 7A 2.48 ¢
24 [#% 2 4 B HE #H ¥ HE[ffE B 800 = 5769k 3 A[ H19.12.21[165.68 m[1.90 m]|2.53 m 3, 235kg 7A 2.69 0
E=) 2% | 2 5 5 HEF F # H[fE B 800 & 7582(/r 3 % H25.1.31] 11 [5.65 m]|1.89 m|2.49 m 3, 195kg 7 A 2.69 2
26 |5 # #H|iE # FH|fE & 800 & 7421|= w Y | H24.8.27[11[4.63 m[1.79 m|1.82 m 1, 795kg 5A 1.99 ¢
21 | & = H|E = H|fE B 480 = 8280|= w Y | H28.8.29[ 7 [3.39 m[1.47 m]|1.89 m 1, 310kg 4 A 0.65 ¢
28 [BF K 5 ¥R E|K R FH|fE & 800 & 4333|= w Y | H16.12.22[19[4.69 m[1.69 m]|2.26 m 2, 180kg 8 A 1.99 ¢
e 29 )0 W 4% =ZE[c D — 1 #E B 800 ¥ 11|H 52 R2.1.31] 4 [5.96 m[1.98 m]|2.86 m 7, 085kg 5A 4.01 oA — 2 BIEHFRLT
SE 30 |1k ¥ #H(V BfE B 800 & 492|8H 5[ H20.11.27) 158.55 m|2.49 m|3.15 m]| 15, 400kg 6 A 8.86 0[A — 1 #®H|EUA
KIES 2 HE F % EH|[fE B 800 = 8680~ I 4 H28.1.19] 8 [5.67 m]|1.89 m(2.49 m 3, 215kg 7 A 2.69 2
&5 2 & 4% =F[c D — 1 HIfE B 800 3 44|H 32 R2.2.21] 4 15.96 m|1.98 m[2.86 m 7, 085kg 5A 4.01 O[A — 2 BIEHBKRLT
nE 33 |#K = HE HF % H|fE B 800 = 8720|= v ¥ v H28.3.1] 8 [5.66 m]|1.90 m|2.47 m 3, 315kg 7 A 3.49 0
EH 34 [ B H 3k Fr[cD—1®(J000)|fE & 800 = 9275|H BF]  H29.12.7] 6 [5.73 m]|1.92 m|2.98 m 6, 815kg 5A 4.00 oA — 2 #®|EUAS
HaRAT 35 |$K 2 HE A % H|fE B 800 = 935|= v Y v H30.2.27] 6 [5.64 m]|1.90 m(2.47 m 3, 285kg 7 A 3.49 0
36 | 1 B H|2 t K & {F|f8 & 800 (& 813[H BF| H28.12.15| 7 [6.96 m|2.35 m|3.03 m| 11, 285kg 7A 6.40 o|A — 2 #&{MNKRLT
37| 2 B H|CcD-—1&(6000)|E & 800 & 7612[8 BF]  H25.2.28| 11 [5.70 m]|1.92 m|3.05 m 6, 930kg 6 A 4.00 o|A — 2 #HIEUZ
i) 8| 3 B H|IC D — 1 #ifE B 83 & 54811y 4 ¥ H1.3.22[ 3515.68 m|1.88 m[2.68 m| 4, 880kg 6 A 3.63 0[A — 2 #HIESBEM
|/ —4H )L H25mBRIELI|E & 800 (X 1018(A F R4.1.25] 2 [9.00 m]|2.49 m|3.65 m| 16, 540kg 6 A 8.86 2
40 [# B T 4 EHE|ID BfE B 800 & 685|H 5[ H25.12.27] 10 |7.57 m|[2.34 m|3.25 m]| 11,490kg 6 A 6.40 ¢
H 4 [ K & Kk # H[5 t &2 ¥ HlfE B 800 [F 192,y F 0¥ H15.1.27] 21 [8.18 m|2.48 m|2.94 m| 13, 205kg 3 A 8.22 9|B — 3 #k|b—n\VY
2 | EMRE1SEHE3t Y L — > {F|E & 800 & 6379[8 25|  H21.8.27] 14]5.98 m|[1.89 m]|2.57 m 6, 865kg 3 A 4.00 ¢
B | ERMIBE2SH|E B # W X B|E 5 800 3 429[1y F % R3.3.5[ 3 [6.65 m|2.24 m|3.66 m 7, 365kg 5A 2.99 ¢
53] 4% 2 1 B HE #H ¥ HE[fE B 800 = 9629= v Y > H31.1.11[ 5 |5.33 m[1.88 m|2.49 m 3, 255kg 7A 2.48 0
4 | 2 2 B HEF B O# H[fE B 800 & 8330/~ I % H27.2.20] 9 [5.67 m]|1.89 m(2.49 m 3, 255kg 7 A 2.69 2
£ 46 |i5 # #H|iE # FH|fE & 800 & 7422|= w Y | H24.8.27[11[4.63 m[1.79 m|1.82 m 1, 795kg 5A 1.99 ¢
47 | & = H|E = HiE B 480 ¥ 5023|= v B v R1.7.18] 4 13.39 m|1.47 m[1.89 m 1, 320kg 4 A 0.65 ¢
48 |5 K IR #® E|IR R FH|fE & 400 % 4064|= v Y | H27.7.21[ 8 [4.69 m[1.69 m]|1.99 m 3, 075kg 9A 1.99 ¢
[E FF 49 |E AF H &k FR[c D — 1 #E B 800 & 663[Ly F % H11.12.3] 24 [5.77 m]|1.88 m|2.52 m 4, 990kg 6 A 4.57 0|lA — 2 #H|BXREH
HaRRT 50 [#& 2 HE H % H|fE B 800 3 416|1= v ¥ v R3.3.1/ 3 [5.33 m|1.88 m|2.49 m 3, 315kg 7A 2.48 0




(34

1[5 & % C D — I #IfFE 5 800 & 86118 [ H27.11.18) 8 |5.30 m(1.88 m|2.50 m| 4, 800kg 6 A 4.00 oA — 2 ®BIEUH
2 | E H & C D — 1 #IfE & 800 = 8612|H B[ H27.11.18) 8 |5.30 m(1.88 m]|2.50 m| 4, 800kg 6 A 4.00 o[A — 2 ®IEUZR
3| E A & C D — 1 ®#E S 830 & 119H [ H18.11.29)17]5.79 m(1.88 m|2.64 m| 4, 840kg 6 A 4.00 0]A — 2 RBIAKREH
4 BB M & C D — 1 ®4#E & 800 = 416[Ly 4 ¥ H11.9.20[ 24 15.70 m|1.88 m|2.56 m| 4, 970kg 6 A 4.57 O|A — 1 #|/MIKR>T
5 (B ® & C D — 1 ®#E & 800 = 1605(H FF[ H12.9.29)23]5.70 m(1.88 m|2.56 m| 4, 630kg 6 A 4.89 oA — 2 ®BIEIA
7 L L I cC D 1 RIfE B 800 = 3706|H B[ H15.11.18) 20 |5.63 m(1.88 m|2.42 m| 4 910kg 6 A 4.89 0|A — 2 RIAKKSA7IHIL
1 :B E o C D — 1 ®#E & 800 = 9247[H [ H29.11.10) 6 |5.65 m(1.89 m|2.51 m| 4, 880kg 6 A 4.00 oA — 2 ®BIEUAH
8 | B % cC D I RIfE B 800 = 7486|Ly 3 | H24.10.26/ 1115.77 m|1.88 m|2.63 m]| 4, 990kg 6 A 2.99 oA — 2 BIRAFv—
9 | E & & C D — 1 ®#E & 800 = 9648[H g H31.2.5] 5 |5.71 m|1.88 m|2.50 m| 4 780kg 6 A 4.00 oA — 2 ®BIEUH
10 {m % % C D — 1 #IfE B 800 = 6866|H B[ H22.11.26) 13 5.68 m([1.89 m|2.50 m| 4, 670kg 6 A 4.00 o[A — 2 ®IEUZR
nminN 5 % C D — 1 ®#E & 800 = 4848[H F[ H17.11.29) 18 5.70 m(1.88 m|2.50 m| 4, 660kg 6 A 4.00 oA — 2 ®BIEIA
12 R #® WK # HifE 5 800 & 7162[= v ¥ > H23.11.24[12[5.29 m|1.69 m|2.33 m| 3,270kg 6 A 1.99 ¢|B — 2 #j|b—n\Y
B & 5 C D — I #fE 5 800 & 8263|Ly 4 % H26.12.9[ 9 [5.68 m|1.90 m|2.60 m| 4, 980kg 6 A 2.99 /A — 2 BIRAFv¥—
14 v E AR OBREE # HifE 5 800 & 6481[= v o > H21.11.27[ 14 [4.99 m]|1.69 m|2.30 m| 2 960kg 6 A 1.99 ¢[B — 2 ®R|SEYE
51%2 X B % C D — 1 ##E & 800 = 7893[H [ H25.12.12)10]5.79 m(1.88 m|2.68 m| 4, 980kg 6 A 4.00 oA — 2 ®BIEUH
16 v R ow MR # HiffE & 800 & 9251[= v H > H29.11.17] 6 [5.00 m|1.78 m|2.34 m| 3,300kg 6 A 1.99 ¢|B — 2 #j|b—n\Y
17 n ¥ % MR & HiffE & 800 = 8227|= w H | H26.11.4] 9 |5.43 m|[1.69 m|2.32 m| 3. 170kg 6 A 1.99 ¢|B — 2 #{|b—n\VY
BIF & % C D — 1 #IfE & 800 = 1604|H F[ H12.9.29)2315.70 m(1.88 m|2.56 m| 4, 630kg 6 A 4.89 0[A — 2 ®IEUZ
il VIA B & C D — I #fE 5 800 & 1614JLy 4 ¥ H12.9.29[ 23 15.67 m|1.88 m|2.75 m| 5, 100kg 6 A 4.57 0|A — 2 ®BIEVAH
20 N B & C D — 1 ®E & 800 & 7264[Ly ¢ ¥ H24.2.24[ 12 15.88 m|1.89 m|2.46 m| 4, 980kg 6 A 2.99 0|A — 2 BIRAFv—
2001 " 5 C D — 1 ®#E & 800 = 8877(H [ H28.10.20) 7 |5.65 m(1.88 m|2.51 m| 4, 820kg 6 A 4.00 oA — 2 ®BIEUAH
2 ™ % C D — 1 ®E S 88 F 24418 ¢ ¥ H10.1.6] 26 |5.60 m|1.88 m[2.50 m| 4, 750kg 6 A 4.57 Q|A — 2 RIAKXKSA7IHIL
2 16 K % C D — 1 ®#E & 800 = 9661{H FF[ H31.2.18] 5 |5.71 m(1.88 m|2.50 m| 4, 780kg 6 A 4.00 oA — 2 ®BIEUH
24 n & ME|FE #® HifE & 800 & 7166]= v H > H23.11.28][ 12[5.30 m|1.69 m|2.33 m| 3,200kg 6 A 1.99 ¢|B — 2 #|b—n\Y
2. Z0fth (fafE - N4 D)
No. T E A ' Al B B E 5 | B Z|EBEAOEHE H < B2 5] wEs £ B |HRE| RUTHA| Ko IA—h—
1 [ i ME(f N s B 280-43238 Y v < —| H22.12.24] 13 {10.88m|2.54 m 1, 700kg 13A B — 2 #®SEYE
HEHE 2 |3 4L K — s Fay B 230-53520 7 ¥ L AR[ H25.12.25[10(3.42 m[1.61 m 200kg 6A
S IKEAXA—bNA9t-5-Y" 1y} 280-46562 XY= /N R410.24[ 1 {2.92 m|1.16 m 457. 3kg 3A 1.812¢0
4 [ERBH AL —PKEGAANX—| @8M (F 1377 |7 — [ H26.11.26[ 9 [3.22 m|1.52 m[2.00 m 641kg|6 A OKE4N)|[0. 7480
5 Kt A—bNAf94-5-Y" 29y} 280-38812 A 7 % F| HI2.6.26[23]3.10 m(1.17 m|1.05 m 278kg 3A 0.89 ¢
TR 6 A7 —FNA4 5/ B B B — 8| @ESH W48 [FR > H| HIT.6.21)12412.19 m|0.84 m|1.17 m 122kg 2A 0.125¢
7|13 L K — K~ 5 -] 280-46104 7 X L R R3.1.19] 3 |3.42 m|1.61 m 18kg 6 A
3. REMBERE
No. B A ' Al EF B E S |5 4| EREAHIFEHE R £ Bl 5| KES E B |HRE[RVIHAN| RoTA—Hh—
TR B # 1|FEB#ABEHE|E & M A666)k > 4 H25.7.4{ 10 ]1.80 m|0.70 m[1.04 m 106kg 1A 0.049%
2 |® B O 2FREH#GCBEEE & H AWK > & H25.7.4{ 10 ]1.80 m|0.70 m[1.04 m 106kg 1A 0.0494
REBE | 3 [F B f SR BEsEHEE B8 W MK > 4] H27.6.17] 8 [1.80 m[0.70 m|1.04 m 106kg 1A 0.0494
4 1" R O AEBHHABEEEE 5 ™ AMOI8AK » A H27.6.17] 8 [1.80 m|0.70 m|1.04 m 106kg 1A 0.049%
5 1/ R O S|\EBHHMABEEEE 5 ™ MK » H| H27.6.17] 8 [1.80 m|0.70 m|1.04 m 106kg 1A 0.0499
NASE 6 I MR i 1|FHREEEE|E & T A8k ~ ¥ H25.7.4{ 10 ]1.80 m|0.70 m[1.04 m 106kg 1A 0.0494
T U N R 2lRE M BEREE & ™ A6068[Fk 4| H28.7.20 7 |1.80 m|0.70 m|1.04 m 106kg 1A 0.049%
HENE 8 | &5 B f " FEHSBEEEE & H A60K ¥ H25.7.4{ 10 ]1.80 m|0.70 m[1.04 m 106kg 1A 0.049%
9 I & R i 2[FBH A BEEE 5 ™ BIS[A L A H28.7.20( 7 [1.80 m|0.70 m|1.04 m 106kg 1A 0.0494
EH 0 B R  1|FBHEAEERE & m A67|R > % H25.7.4{ 10 ]1.80 m|0.70 m([1.04 m 106kg 1A 0.049%
HERFT HE AR & 2R GEEEHE|E 5 M A7k > 4| H28.7.20| 7 [1.80 m[0.70 m|1.04 m 106kg 1A 0.049%
121/ B f 1|FEBEABERE & M A672|k > 4 H25.7.4{ 10 ]1.80 m|0.70 m[1.04 m 106kg 1A 0.0494
T E WB|E K O 2)FB#ABEHEE & M A678k o & H25.7.4{ 10 ]1.80 m|0.70 m[1.04 m 106kg 1A 0.049%
4 [AE R SIRBEEGEEE|E 5 M AMB8IKk > & H27.6.17) 8 [1.80 m[0.70 m|1.04 m 106kg 1A 0.0494
15|/ &K O 4|FBHEABERE & M A676R o & H25.7.4{ 10 ]1.80 m|0.70 m[1.04 m 106kg 1A 0.0494
ErrsErt | 16 (B FF R 4 1|EBH#MA BEEE 5 ™ A607204/ > 4| H28.7.20{ 7 1.80 m|0.70 m|1.04 m 106kg 1A 0.049%
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